MATH 1060 Name
Test #3 , Fall 2008

‘Calculators are allowed for both parts of this test. No notes are allowed.

For items 1-6 make a rough sketch of an appropriate graph showing approximate intercepts,
proper concavity, and appropriate increasing or decreasing behavior. (2 points each)

Appropriate Graph
1, y=-3x+12 1.
2. y=8(125)"
3. y= 8075
4. Y= 8
ST x+2

5. y=28(0.67)"

6. y= 8x2.03

For items 7-10 write your answer on the line in the answer column. Express any approximate
answers to the nearest 0.01.3 points each) :

: ~]
7. Simplify: 1005 . | 7. 10X
8. Solve for x: 10 = 20e~012x -  s_Xu$E
9. Solve for x: 40':5(]:11)—10 : 9, yf 5/

, 3 | _
10. Solve for x: 54 =2x? . 7 10 K= z |



Name

For items 11-13, either explain how you solved the problem or show your work in the space
provided. Identify any variables you introduce and clearly state any conclusions using complete

English sentences.

11. (6 points) Assume a Honda Accord bought for $28,000 in 2004 has been losing market value at a
continuously compounding rate of 14% per year.

a. Assume that the Honda Accord’s market value with continue to diminish continuously at
the rate of 14% per year and write a rule for a function that will give the car’s estimated
market value as a function of time in terms of the number of years since 2004,
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b. Show how to use your function in part a. to estimate the Honda Accord’s market value in

the year 2008. . ‘ .
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c. Show how to use your function in part a. to estimate the number of years it will take for the
car’s market value to depreciate to $7,000? .

— 0¥ T
700 = 262002
| .
2.2 = &
,ﬂ( 29 = ¥t
¢tz £n20 7.7
— gp

j?L wll 1% bot G.7 or /é 74&/3
ﬂ’. markef yé /a /2 Of/aﬂ-c'ﬂé Je ;‘7690,




For items 13 and 14 specify the type of function that will best fit the data (linear, exponential, or a
power) and specify a rule for the particular function you think best fits the data. In each case -
calculate the first differences and the ratios of successive terms and explain how you determined
the type of function you specified. Describe the shape of the graph and determme the value of y --
when x=10. (5 points each) o
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